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Simplify the following expression.

543 £ 12 — 48 £ 2,75
SO A JYyE ~ 3 + 2R

SBAUF -4y +%)>§(Fg
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Suggestions for studying...

1. Do review

2. If you get stuck, look over class examples
3. Look over old quizzes.

4. Look over old tests.

5. Ask questions (to each other and me)

6. Extra help

Jan 15-9:23 AM



Day 4.notebook
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r

2. What are the roots of the quadratic equations graphed i #17
3. Solve by using a graphing calculator.

a)0=—a?-3a-4

1. How many x-intercepts does the graph of each quadratic function have?

- f
o |

b) 12=-352-125

4. Determine the roots for each quadratic equation using a graphing calculator. Where integral roots
cannot be found, estimate the roots to the nearest tenth.

a)0=x'+24x—3.85

b) 12 +t=-1

5. For what values of m would the equation x? + 8x + s = 0 have
a) one real root or two equal real roots?

b) twg real distinct roots?

) no real roots?

6. An object s launched at 21.5 m/s from a height of 2 4 m. The equation for the obyject’s height, A,
measured in metres, ¢ seconds after launch 1s k= —4 922 + 21 5¢ + 2 4. After how many seconds will the
object hit the ground? Express your answer to the nearest tenth of a second. Use a graphing calculator

to solve.

T

-l-l‘.?{.}&},:o
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7. Factor.

a)xl—x—20 b) 32 — 30x + 63 €)—4x1 - 12x -8 d) %xz - lix—-ﬁ
@142 +3x—5 I+ 11x-20 ) 42 + Ty + 32 h) 6x2—17x + 12
i) 122 — 4y — 82 k) 1402 — 4500y + 25012 DxX2-492  m)252-9

B -2 QurIP-G-T P E-1P-2x-1)-35

q) 6(2x + 12— 7(2x + 1) — 20 1) 2(Tx) +2(7x) — 24
8. Solve each quadratic equation by factoring. Verify vour answer.

a)x—2x—15=0 b) 2+ 8x=64 ) %xz—%x+9={} d) 7 -35=0
9, Determine the real roots of each quadratic equation.

a) 6452 —169=0 b)(x+ 17 —81=0

10. Two numbers have a sum of 22. What are the numbers if their product 1s 967

11. Use the discriminant to determine the nature of the roots for each quadratic equation. Do not solve
the equation.

Q)T +x—1=0 b) 32—4x+5=0 OBF-8+2=0 d)32+6=0
12. Without graphing, determine the number of zeros for each quadratic function.
a) fx)=3x2-2x+9 b) g(x) =9x1 - 30x + 25 c) hf)=—-498 -5t + 30

13. Use the quadratic formula to solve each quadratic equation. Express answers as exact values in
simplest form.

a) - 10x+23=0 b) 4x? — 28x + 46 =0
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14.

Use the quadratic formula to solve each quadratic equation. Express answers to the nearest
hundredth.

a) i —-sx+1=0 b)3xi+5x+4=0

. For the quadratic equation 2x* + joc— 2 =0, one root 1s 2.

a) Determine the value of £.
b) What iz the other root?
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Unit 4: Radical Expressions and Equations
1.Express each radical as a simplified mixed radical
a) 434 b) 4350 €) 436317, x>0,y 20

2 Express each mixed radical as an equivalent entire radical.
a) 45 b) 233!13 c) B'xl«f;,le} d) x0Ty .x=20,y20

3. Sumplify each expression.

a) 711 —3./11 = 8,11 b) 4-f3x —4:f2 + f3x -2

Jun 7-10:29 AM
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4. Simplify each expression.
a) 3204 + 5.f454 b) +/10e — /90e + 4./40e €) 543 +/12 — 48 = 2.f75

d) 2 f16y + 3 xty
5. What is the perimeter of the right triangle shown? State the answer as an exact value.

W2

6. Multiply Express each answer as a mixed radical in simplest form.

7. Sumplify each expression.

a) \V10(2410 <45 b) 3vx (24 -2
8. Multiply using the distributive property. Simplify each expression.
a) (3+47)(5\T+2) B (43+3S5)

9. Divide. Express each answer in simplest form.

QJ@ b)x—lﬂx x>0
\E 4-J6x
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(344

ISUT 2 ¢ 4208 4 357

(142)
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10. Rationalize each denominator. Express each radical in simplest form.

Jio V-1 64‘5+2J
1) Pk
4 2.2 -6
a4 —
) B 935
11. Solve for missing variable in each equation.
x+3=7 b)) +1-y=1 J4-3m=m

d) Jrr5=42x-3 e Vwel=Jwed 95— Jxs10--3

12. John solves the equation +/x+ 6 —x =4. He determines two solutions: x = -2 and x = —5. Identify

whether etther of these values 1s extraneous.

\f—mz

Lf—E' <?&;\ 2 (VoS Yden >

n

X‘\'IO‘3|EE,‘,‘O ‘ZJ)G\TJ"C]‘

X-<C
j ZL\ ~6 o
-G

( w\ ()

[~ XX 10

XY=

"
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Unit 5: Rational Expressions and Equations

1. Determine the non-permissible value(s) for each rational expression.

7 x+3 l-x
2) b) v © (x+4)x—3) D s

3
x+3

2. Simplify each rational expression. State any non-permissible values.

(x=Tix+2) 0 (x +3)?
3

g BN+

3(x+ 3) b)
(x+ 3)x -3) 10(2x + D)(x - 5)

(x+Nx-35 =3x(7 - x)

a)

3. Simplify. State any non-permissible values.

') 2 =

- ix—-6 2x* +3x+2
e b) = )
10r5°2 -4

Sx—3x—30

Jun 7-10:30 AM



Day 4.notebook

June 05, 2019

4.8implify.
2 [ ox “."?-}-3‘| b) |:(x+l}(x—6):||:x(x+6}:|
147 |32 (x-+6) ]| 1+
5. Write each product 1 simplest form.
a) .'(x—.Z"\|."’xJ —2.::—3\| h}.'( Sv—35 \|,F ¥ =25 \|
)l <2 |37 +ay—s |\ 37 -2y -15)
6. Divide. Express each quotient in sumplest form.
(5a% _ [15¢) [x+1) [ x+3)
a) | — | =| b — = —
) |38 | '-kirjl D \3x+ j,| Gx+ jj|
7. What are the non-permissible values for
the quotient Xy l? L33 . Explain your answer.
(x=-3x+3) (x+4)
8. Simplify each quotient.
a) x-x :[x:l} h::':r1+Sx+.- +:r:+.-:r+-f»
10x+8  5x"+4x x*—6x-7 x-x-42

Jun 3-2:31 PM
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0, State the least common denominator.
AR S GOt SR S S R
] x*—36 x—6

10. Add or subtract. Express the answers in simplest form.

x+1 4x-3 4x° x+1 x?
a + b + -
) 3x 3x ‘J x+3 x+3 x+3
11. Simplify.
x-4  3x+l 3 2 Jx ey 3

x+1 (xelE-1)  x-1

12.
x—8 _ x—3
P -1lx+28  xT-8x+7

13.

x+1 x x P+ 0 2x f] x+3 x 2x+9

2

x—3 x:—S' x+3 2x+4 x—3 x:—x—ﬁ-

§ Il D

x—3 x-3

14. John's family travels 300 km from their home to a family reunion. His cousin Susan and her fanmuly
take the same amount of time to travel 200 km from their home. Determine the speed of both vehicles
given that one of the vehicles travels 30 km/h faster than the other.

‘ kY, v {
3°‘-\h 360 ¥+30 YY)

—

——_] %30

Csen| b Yoo —
|Som2ee | x <

30
2°%% 00

Y¥3y \)(
300y~ 100(»(430)
300\1\1 Loox + logbo
[ 00x= Gooo
X= 60 K /kn

Jun 7-10:26 AM
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14. John's fanuly travels 300 km from their home to a famuly reunion. His cousin Susan and her famuly
take the same amount of time to travel 200 km from their home. Determine the speed of both vehicles
given that one of the vehicles travels 30 km/h faster than the other.

Jun 8-9:41 AM
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